CR-2164
M. A. (First Semester) Examination,
Nov.-Dec. 2018

ECONOMICS

Paper : Fourth
(Quantitative Techniques)
Time Allowed : Three hours
Maximum Marks : 40

dAlc ;. T g1l @ush & AT fAETAER Y|
Note : Attempt questions of all two sections as directed.
Wus -'31" Section-'A' 5x3=15
(eTg ZAOT TH) (Short Answer Type Questions)

dlc : g3l urg gHT & 3K SISU| YD 3PS d Th U HiaT faary gl
Ucdd U 3 37l ol & 31T¥hdd ereg AT 100 §l

Note : Attempt all five questions. One question from each unit is compulsory. Each
question carries 3 marks. Maximum word limit is 100.

Sp1s-1 / Unit-1
1. heard ugha & AT F1 §2 TASET|

What is the measurement of Central Tendency? Explain.

Jgdar/ Or

Ife el I FeaFded IO (r) -82 & 3R 3deliehall 1 H&AT 25 & T
JFATT Ay a1 gem?

If Karl Perarson's co-relation coefficient (r) is *82 and observations are 25, is given.
Find out the Probable Error.

Sp1s-11 / Unit-11
2. [AFAfhd AU & X JAT Y & AT Ad Hiaw

3X+4Y-60=0
X+2Y =10.



Find out the value of X and Y from the following equations :
3 X+4Y -60=0
X+2'Y =10.

3AYdr / Or
G HEOT ¥ 3T FT TFAST © ?

What do you mean by Linear Equation?
gahTs-111 / Unit-111
3. 37deheld T JAATE H FT 3UINT &2
What is the use of Differential Calculas in Economics?
34t/ Or
afe Thel w7 @1 P=10 3R g=15 & dUT &FTT Held C = 120 + 1:5q + 0.5¢°
fgam & a w7 & o JYargfed A 0T Hifw|

P =10 and q=15 are given a any firm and its cost function is C = 120 +1.59 +0.5¢°
also given. So calculate the profit or loss of the firm.

sIS-1V / Unit-1V
4. GATTITHA' T[0T AT §?
Define ‘Regression' Coefficient?
3AYdr/ Or
TGO Pl HHASST|
Explain the ‘Extrapolation’.
Srs-V / Unit-V
5. ‘TSR & AZTd P THASTSU
Explain the importance of 'Index Numbers'.
3AYdr/ Or
THI ScshAIAT GUETOT AT 2

What is ‘Time Reversival Test'?



Lus -'d" / Section-'B’ 5x5=25
@re, 393 uAT) / (Long Answer Type Questions)

A . T 3T uHT & 3R QAT TP SHE T TH T & il fadard
&l Ucdd U 5 37hl &l ¢l JTUhde e AT 800 &

Note : Attempt all the five questions. One question from each unit is compulsory.
Each question carries 5 marks. Maximum word limit is 800.

ShIS-1 / Unit-|
6. fAFifeha THP & TIRRAT H1 F-HFaey UTH AT HfAT
X: 88, 95 76, 92, 12, 40, 98, 35 50, 70
Y: 13, 14, 16, 20, 10, 80, 42, 10, 19, 65
Calculate the Spearman’s coefficient of correlation :

X: 88, 95 76, 92, 12, 40, 98, 35 50, 70
Y: 13, 14, 16, 20, 10, 80, 42, 10, 19, 65

JJdr / Or
e aifha H @ PIT-TT Teoldrel AT doeodlial § ?

Fardrgear:1 2 3 4 5 6 7 8
dooldral ‘A’

(TPR) : 40 30 00 95 82 65 102 04
Jooldlol 'B'
(FPR) : 110 00 10 85 32 40 05 50

Which Batsman is a consistant Batsman from the following?

No. of Match : 1 2 3 4 5 6 7 8
Batsman ‘A’

(Score) ; 40 30 00 95 82 65 102 04
Batsman 'B’

(Score) : 110 00 10 8 32 40 05 50



sh15-11 / Unit-11
7.9f¢ U wH FH1 AT IR gfd BT HAU:
D=24-3P,S=6+2P
© dl g deId AT HifA]

If a firm's demand and supply functions are given
D=24-3P,S=6+2P
find out the equilibrium price.

372t / Or
fordlt Tg & geq TS R H AT

Explain the macro economic variables of a country.

ghr5-111 / Unit-111
8. Teh B HI HIAT IR AT Fold [AFAFIAR &
P=15-2q
C =100 + 1:5q + 0.6¢°
dl % & ScuTee HAMET, DA, oH, WA ITH, HHT o0, ol AN,
3rad omra, R arerd, aRadaie amera 3R 3irad ua anrd dr aorer
T
Price and Cost functions are a firm are given :
P=15-2q
C =100 + 1:5q + 0.69°

So, find out the quantity of Production, Price, Profit Marginal Revenue, Marginal
Cost, Total Cost, Average Cost, Fixed Cost, Variable Cost and Average Fixed Costs of
the firm.

3YaT/ Or
T T F AT 2 TAFAIRT AR @ 31 &g A1a ffSe-
aEJ & ATAT SUHNDHI I 3T

100 unit Rs. 1,000
280 unit Rs. 5,050



What is Income Elasticity? Find out the income elasticity from the following
information:

Quantity of Goods Income of the Consumer 100 unit

100 unit Rs. 1,000
280 unit Rs. 5,050
S1s-1V / Unit-1V

9. QU 9T FHMBI T YATTIHAT THBION ATd DIToIT-
X: 10, 12, 18, 20, 30, 40, 50
Y: 30, 28, 32, 25 22, 21, 40
Find out the Regression Equation from the following data :
X: 10, 12, 18, 20, 30, 40, 50
Y: 30, 28, 32, 25 22, 21, 40

3gdr/ Or

g I & e Hod < Do

ay . 1980 1985 1990 1995 2000

Hed : 6 8 - 16 20

Find out the Interpolation Price through Newton's method :
Year : 1980 1985 1990 1995 2000

Price : 6 8 - 16 20

10. TGN a7 2 3T AU 9 F 3 arell FEAni hl AHSSU|
What is Index Number? Explain the problems of creation of good Index Numbers.

37@r / Or
gigrg fecuoh faf@e- (fhedl & W)



